1.     a. 300x12
         b. 3600

2.     3x213=639
        4x216=864
         5x106=530
         6x106=636
          4x209=836
          3x317=951

3.      3x215=645
  
4.      4x217=868
         2x439=878
         6x108=648
         5x163=815
         3x240=720
         7x131=917

5.     3x156=468km
 
6.      A. Both
         b. I know that the answer is 1225 because 5x5 is 25, 5x40 is 200 and 5x200 is 1000.

7.      112x7=784
 
8.   Bag a     140x8=1120g       bag b   345x3=1035 g    1120-1035= 85g
Bag a contains 85g more than bag B 
